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e N : agirs Section A Objective Regular 16x1=15 / Private 15x1=15

1. wiferdr & s - .

~&) W W R ' (@) we & B
@ag@ITedE (=) #rd =& |
Utility of Statigtics is @
(a) Increasing W) Dedreasing
(¢) Neither increasing nor decreasing {d) None of these.
9 Fiferdm gh ¥ e a9 @i € - Statistical dataare of what type :
~(a) 2 . b) 5 .
(c) 3 " DAVVonline.com @& %# & F§ 78 | None of these.
. 8. =reyf wfafafr &ar @ o .
~{3¥) T BT () SrgrarT =1 (%) Wi @) A I
Sample is the representative of : . ’
(a) Universe (b) Investigation {c) Data (d) None of these.
4 gETT wer ¥ W F fog ania 8 =i
(1) arrasii (=) s (&) T (=) &<t wwa &
For the caleulation of arithmetic mean the class-intervals should be :
(a) Exclusive {b) Unequal ) Equal (d) All are possible.

5. fadta wgd @ gEa AW § o

~(ar) FeawT (@) g™ %) ey @ T TR |
The second name of second quartile 15 : )
(a} Median (b) Mode () Mean "(d) None of theée. .

6. FEAH B

o) Srepor Rt IRy waE ot & (%) ward gy e

() = 781 ST DAVVonline.com (€) S 3 & i o

The

-

Meode is :

(a) Observation with highest frequency (b) Highest observation
(¢) Highest frequency : :

d) None of the above.

BTO



9 DAVVonline.com DS-284

- icl: q_ % :
7y ¥ gaE® T T EHLIEGH bl | ‘
EREITLES ) HTH'T“ f‘ﬂ‘H‘Tfln : () :mu‘-r Fa=er
The measurement based on all values of (), series 15 - o _
(b) Standard Deyjqyq;on (c) Quartile deviation (d) All the above.

(z) T i

in) Range

8. Eﬂ‘ﬁﬁ e é" - Qu artile deviation is :
) Q3 - Ql QB * Q1

(i) QTJ- - Q'L (b) Ql F Q_-j \:ﬁc) 2 (d) — 2'_ =,
9. wa Ay O &

(a1) weavvy At () wiefrqarery ~ar) e A A (z) = & FE T8 |

Moving average is a method of :

(a) Correlation (b) Regression (¢) Time series - (d) None of these.
10. el fradT Feam== IorfH 1 G ¥ : The limits of Karl Pearson’s correlation coefficient are :
~~(a) 1 (by £ 2 () +3 (d) #1% 78 | None.
11. 5% % g a9 A0 ¥ gegEg o

(37) wes &) FTHR (@) T () #¥ 7 |

The correlation between price and demang of a commodity is :

{a) Positive (b) Negative (¢c) Zero (d) None. 4
12. 3 =4 A ey # s dand et ¥ - DAVVonline.com

- In case of two variables, regression line are :

T~~{a) 2 (b) 3 (c) 4 (d) 5.

13. THT IHET TR € S 3, uRY ¢ Time rversal test is satisfied, if :
(a) Py, x P, =100  (b) Py, xP; =100"  (¢) Py xP,;>100%2  (d) Py x Py <.

e R ST O R ST e R S §
In the computation of price index number the price of the base is assumed as :
“~a) 100 © (b) 200 (e) 300 (d) 400.

15. ofe SRt gawis 121 qur o gueis 144 &1 &t R gasim amm
If Laspeyre’s Index Number is 121 and Passche’s Index Number is 144 then Fisher’s Index

Number is :
(a) 133.5 {b) 137.5 () 132 (d) 321.
qgeg o9 : ¥Y Iadg Section B : Short Answer Regular 5x4=20 / Private 5x5=25

1, iR & sy @l w1 AT fR |
Discuss main limitations of Statistics.
syar OR
e T T e waE W el o ST Aay |
Define and distinguish between primary and secondary data.

2 Sl WersT T HIY ¢ From the following data find the value of Median -

“

7 @9 (gwdi &) (Pocket Exp. (in Rs.)) : 10 15 8 20 25 18
g4 #t g&Ar (No. of Children) . 12 13 8 10 3 15
arqar OF
rgifaria Aer’ & ST FT gHE € 7 ,
DAVVonline.com

What do you understand by ‘Statistica] Average ?

3. Rrewar A wiwrsr &g | Rrewar 3 R myy gt |
Define Skewness. Discuss the various mg, e of gkewness.
gy OR
w1 S AR 5 =R ¥ v e
Indicatre the importance of time serigg an* {a in business.
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Explain the sipnificance of correl tion. .
w1 OR DAVVonline.com

ribun o e i e iR AL e | ion i !
What do yvou understand by ""‘grﬁ'wi”n onc regession fines

friwiw w2 e I 7@y |
What is Index Number ? State its utility:

491 OR
R e Y T g A g e 1090 F AT 3 AErE 9 SR
s A e Al
Construct the Cost of Living Index Number by using family budget method for
with 1990 as base year from the following data :

f:zrfl.f-}sﬁ:ﬁzrr,:fnaﬁ'ﬁ-n?- 7

the year 1995

6] HIHAT 315 A #rre afy T
Commodity Quantity in units | Price per unit {in Rs.)
1990 1990 1995
A 50 6 10
B 100 2 2
C 60 4 6
D 30 10 12
E 60 8 12
gve ® : 44 SaQF Section C : Long Answer Regular 5x10=50 / Private 5x12=60

1. e Fryor ar Prater 3 wifwet A Swifer Wt |

Explain the use of Statistics for economic-analysis and planning.

-y OR DAVVonline.c
mﬁﬁ?@ﬁ%ﬁ’uﬁﬁ‘f#g@xﬁ%ﬁ £ STATATTS FTET FT | online.com

Examine critically the method of collection of primary data.

P gl & Wrey @ AieE A6 #ffw : Find out the Mean and Median from the following data :
s gaaf ¥ (Income (in Rs.)) . 40-44 45-49 50-54 55-59 60-64 65-69
=fas; &1 e (No. of persons) 2 7 10 12 8 5

¥aar OR

oyt afdver argef de ¥ SR St & A S i STt Wil o age ¥ W wEw 27 Sk 26 9%
Locate the missing frequencies in the following incomplete frequency distribution wh .
and Mode are 27 and 26 respectively : l when Median

a1t (Class Interval) : 0-10 10-20 20-30 30-40 40-50
smafr (Frequency) : 3 - 20 13
W%lﬂﬁaﬁwmﬁ:mmﬁﬁfﬁaﬂ FEH T Fysper _
The following is the distribution of 100 members of P'a'rliamel'jﬁ-(f\a ol :

and its coefficient : » find the standard deviation

arg (a5t #) Age (in years) 30~40 40-50 50-6

. 0

et # g@m (Number of members) : 3 51 s 60-70 70-80 80-90
YT QR 5 9 7

b s 3 T 9 =g o O & T X % g o
From the following table of price in rupe®> find 1y, ak

€ slope of strg; . -
of least square and fit the trend : 052 straight line trend by the method
o Year ;1951 1110 1953 1954 1955 |
arer (&9 ) Price (in Rs.) : 107 4 14 15 DAVVonline.com
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Calculate Karl Pearson's correlation coefficjap from the following data :

X 11 10 9 8 " 6 '
vy - 20 18 12 ] 10 " DAVVonline.com

ﬁwmﬁﬁﬁmﬁwmﬂaﬁmmﬁﬁmmxmﬁﬁwmmmr

From the following data obtain the two lines of regression and find the estimated values of

yand y :
x 6 2 10 4 8
y o 9 10 5 8 7

Ryt ariadr & e aedl g9 @10 1985 3 STeIT g 1995 F PG FEwi Sww Ay
From the following data find out price Index Number by Fisher ideal formula for 1995 based
on 1985 : '

I

1985 1995
T FT AT EiLo) A
Commodity Price Quantity Price Quantity
A 12 100 20 T 120
B 4 200 4 240
C 8 120 12 150
D 20 . 60 24 50
3rqqr OR

Sfram Frafe g a7 & 2 ae e sgew 4 19w @ 7 ey |
What is Cost of Living Index Number ? What purpase does it serve 7 Explain.
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